	TABULATION OF BID.	=							
PROJECT NO ISLAND: OF DATE ADVE	Interstate Route H-2 Rehabilitation Waipio Interchange & Mililani Interchange On/Off Ramps, Ka Uka Blvd. & Meheula Prkwy Overpasses & Kipapa Stree O.: IM-H2-1(33) Net Length of Project: 4.12 Miles ahu DISTRICT: Ewa ERTISED: Internet Posting - April 26, 2007 IED: June 7, 2007 ON TIME: One Hundred Eighty (180) Working Days	**NOTE: Quantities shown in this column are for in- house use only.		KIEWIT PACIFIC CO.			AN DREDGING CTION CO., INC.	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	**APPROX.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
202.0300	Removal of AC Curb	190 lin ft	LS	LS	\$6,500.00	LS	\$2,000.00	LS	\$1,900.00
202.0400	Removal of Existing Concrete Gutter	170 lin ft	LS	LS	\$33,000.00	LS	\$15,000.00	LS	\$1,000.00
202.0500	Removal of Existing Drain Inlet	1 each	LS	LS	\$4,000.00	LS	\$3,000.00	LS	\$250.00
202.0600	Removal of Existing Drain Lines	5 lin ft	LS	LS	\$5,000.00	LS	\$1,000.00	LS	\$250.00
203.0100	Roadway Excavation	29,150	CY	\$5.00	\$145,750.00	\$100.00	\$2,915,000.00	\$50.00	\$1,457,500.00
203.0200	Borrow Excavated Material	90	CY	\$100.00	\$9,000.00	\$200.00	\$18,000.00	\$50.00	\$4,500.00
206.0100	Excavation for Drainage System	60 cu yd	LS	LS	\$12,500.00	LS	\$10,000.00	LS	\$7,800.00
209.1000	Installation, Maintenance, Monitoring and Removal of BMP	LS	LS	LS	\$200,000.00	LS	\$50,000.00	LS	\$90,000.00
209.2000	Additional Water Pollution, Dust and Erosion Control	FA	FA	FA	\$70,000.00	FA	\$70,000.00	FA	\$70,000.00
305.1110	Aggregate Subbase	4,800 cu yd	LS	LS	\$1,230,000.00	LS	\$550,000.00	LS	\$408,000.00
306.0100	Untreated Permeable Base Course	9,300 cu yd	LS	LS	\$800,000.00	LS	\$700,000.00	LS	\$790,500.00
312.0100	Plant Mix Glassphalt Concrete Base Course	15,000 tons	LS	LS	\$3,185,000.00	LS	\$2,368,600.00	LS	\$1,350,000.00
401.0400	HMA Pavement, Mix No. IV	15,400	TON	\$190.00	\$2,926,000.00	\$190.00	\$2,926,000.00	\$150.00	\$2,310,000.00
401.0500	Leveling Course	680	TON	\$200.00	\$136,000.00	\$200.00	\$136,000.00	\$200.00	\$136,000.00
411.2114	10-1/2 Inch Concrete Pavement	3,200 cu yd	LS	LS	\$2,370,000.00	LS	\$1,650,000.00	LS	\$1,002,000.00
415.1000	Cold Planing	69,800	SY	\$5.50	\$383,900.00	\$5.50	\$383,900.00	\$5.00	\$349,000.00
507.4000	Metal Bike Railing	589 lin ft	LS,	LS	\$155,000.00	LS	\$167,400.00	LS	\$88,350.00
						<u></u>	y	Sheet No.	1 of 9 Sheets

PROJECT:	Interstate Route H-2 Rehabilitation Waipio Interchange & Mililani Interchange On/Off Ramps, Ka Uka Blvd. & Meheula Prkwy Overpasses & Kipapa Strea	ım Bridge							
PROJECT N	IO.: IM-H2-1(33) Net Length of Project: 4.12 Miles		·					STATE	OF HAWAII
ISLAND: O	ISLAND: Oahu DISTRICT: Ewa			KIEWIT PACIFIC CO.			AN DREDGING CTION CO., INC.	DEPARTMENT OF TRANSPORTATION	
DATE ADVI	ERTISED: Internet Posting - April 26, 2007	Quantities shown in this column				CONSTRU	CTION CO., INC.		AYS DIVISION
BIDS OPEN	BIDS OPENED: June 7, 2007								
COMPLETI	ON TIME: One Hundred Eighty (180) Working Days	house use only.							
ITEM NO.	ITEM	**APPROX.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
507.5500	Concrete Bridge Rail Upgrade	553 lin ft	LS	LS	\$200,000.00	LS	\$150,000.00	LS	\$221,200.00
507.5600	Concrete Bridge Rail Light Standard Support Upgrade	4 each	LS	LS	\$60,000.00	LS	\$48,000.00	LS	\$16,000.00
511.0100	Furnishing Drilled Shaft Drilling Equipment	LS	LS	LS	\$3,800.00	LS	\$26,000.00	LS	\$10,000.00
511.1000	Drilled Shaft (22-Inch Diameter)	26	LF	\$155.00	\$4,030.00	\$525.00	\$13,650.00	\$350.00	\$9,100.00
511.1100	Drilled Shaft (30-Inch Diameter)	8	LF	\$255.00	\$2,040.00	\$600.00	\$4,800.00	\$300.00	\$2,400.00
511.2000	Unclassified Shaft Excavation (22-Inch Diameter)	26	LF	\$305.00	\$7,930.00	\$100.00	\$2,600.00	\$350.00	\$9,100.00
511.2100	Unclassified Shaft Excavation (30-Inch Diameter)	8	LĘ	\$485.00	\$3,880.00	\$120.00	\$960.00	\$500.00	\$4,000.00
511.3000	Unclassified Extra Depth Excavation (22-Inch Diameter)	8	LF	\$345.00	\$2,760.00	\$100.00	\$800.00	\$350.00	\$2,800.00
511.3100	Unclassified Extra Depth Excavation (30-Inch Diameter)	4	LF	\$385.00	\$1,540.00	\$175.00	\$700.00	\$500.00	\$2,000.00
603.0100	Clean Existing Culverts	FA	FA	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00
603.0200	Reinforced Concrete Collar	2 each	LS	LS	\$5,000.00	LS	\$8,000.00	LS	\$1,400.00
603.0300	Bed Course Material for Culvert	9 cu yd	LS	LS	\$5,000.00	LS	\$3,500.00	LS	\$500.00
603.1000	24-Inch Reinforced Concrete Pipe, Class III	20 lin ft	LS	LS	\$5,000.00	LS	\$5,000.00	LS	\$3,000.00
603.1500	30-Inch Reinforced Concrete Pipe, Class III	5 lin ft	LS	LS	\$2,500.00	LS	\$1,500.00	LS	\$950.00
604.0100	Type 61614 Grated Drop Inlet, 5.00 to 5.99 Feet	1	EA	\$7,100.00	\$7,100.00	\$15,000.00	\$15,000.00	\$8,500.00	\$8,500.00
604.0200	Type 61614 Grated Drop Inlet, 6.00 to 6.99 Feet	1	EA	\$7,500.00	\$7,500.00	\$20,000.00	\$20,000.00	\$9,000.00	\$9,000.00
604.4010	Adjusting Manhole Frame and Cover	4	EA	\$1,000.00	\$4,000.00	\$250.00	\$1,000.00	\$1,200.00	\$4,800.00
								Sheet No.	2 of 9 Sheets

Sheet No. 2 of 9 Sheets

PROJECT N ISLAND: Oa DATE ADVE	ERTISED: Internet Posting - April 26, 2007	m Bridge  ** NOTE: Quantities shown in this column are for in-		KIEWIT	PACIFIC CO.		AN DREDGING CTION CO., INC.	DEPAI TRANS	E OF HAWAII RTMENT OF SPORTATION AYS DIVISION
	BIDS OPENED: June 7, 2007  COMPLETION TIME: One Hundred Eighty (180) Working Days								
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
605.1000	6-Inch Underdrain	2,993 lin ft	LS	LS	\$150,000.00	LS	\$120,000.00	LS	\$119,720.00
605.2100	Type 1 Underdrain Outlet	6 each	LS	LS	\$24,000.00	LS	\$6,000.00	LS	\$6,000.00
605.2200	Type 2 Underdrain Outlet	3 each	LS	LS	\$12,000.00	LS	\$2,500.00	LS	\$3,000.00
605.5000	Cleanout	9 each	LS	LS	\$25,000.00	LS	\$5,000.00	LS	\$9,000.00
606.3110	Guardrail Type 3 - Strong Post W-Beam	2,520 lin ft	LS	LS	\$143,000.00	LS	\$160,315.00	LS	\$163,800.00
606.3200	Guardrail Type 3 - Strong Post Rubrail	252 lin ft	LS	LS	\$7,900.00	LS	\$16,650.00	LS	\$20,160.00
606.3500	Guardrail Type 3 - Strong Post Thrie Beam	25 lin ft	LS	LS	\$6,300.00	LS	\$6,630.00	LS	\$6,250.00
606.7000	Terminal Section, Type A Flare	4 each	LS	LS	\$42,000.00	LS	\$65,960.00	LS	\$40,000.00
606.7100	Terminal Section, Type G	4 each	LS	LS	\$18,000.00	LS	\$10,080.00	LS	\$12,000.00
606.7200	Terminal Section, Type FLEAT-350	4 each	LS	LS	\$26,000.00	LS	\$25,880.00	LS	\$24,000.00
613.0300	Adjusting Centerline and Reference Survey Monuments	2	EA .	\$1,500.00	\$3,000.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
622.1000	Remove Existing Highway Lighting System	LS	LS	LS	\$7,560.00	LS	\$7,560.00	LS	\$7,730.00
622.2000	Highway Lighting System	LS	LS	LS	\$128,000.00	LS	\$128,000.00	LS	\$71,400.00
623.1001	Removal of Type I Traffic Signal Standard	LS	LS	LS	\$882.00	LS	\$880.00	LS	\$750.00
623.1002	Removal of Type II Traffic Signal Standard	LS	LS	LS	\$1,764.00	LS	\$1,765.00	LS	\$1,500.00
623.1003	Removal of Type "C" Traffic Signal Pullbox	LS	LS	LS	\$441.00	LS	\$440.00	LS	\$500.00
623.1004	Removal of Traffic Signal Conduit and Cables	LS	LS	LS	\$2,395.00	LS	\$2,400.00	LS	\$800.00

Sheet No. 3 of 9 Sheets

	IABOLATION OF BIBC	<del> </del>							
	Interstate Route H-2 Rehabilitation Waipio Interchange & Mililani Interchange On/Off Ramps, Ka Uka Blvd. & Meheula Prkwy Overpasses & Kipapa Strea	m Bridge						•	
PROJECT N	IO.: IM-H2-1(33) Net Length of Project: 4.12 Miles							STATE OF HAWAII	
ISLAND: O	ISLAND: Oahu DISTRICT: Ewa		** NOTE:		KIEWIT PACIFIC CO.		AN DREDGING	DEPAI	RTMENT OF
DATE ADVERTISED: Internet Posting - April 26, 2007		Quantities shown in				CONSTRU	CTION CO., INC.		SPORTATION AYS DIVISION
BIDS OPENED: June 7, 2007		this column are for in-							
COMPLETION TIME: One Hundred Eighty (180) Working Days		house use only.							
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
623.2001	Type I-10 Traffic Signal Standard	l i	EA	\$2,450.00	\$2,450.00	\$2,450.00	\$2,450.00	\$1,200.00	\$1,200.00
623.2002	Slipfitter Traffic Signal Head, 2-Way	LS	LS	LS	\$2,275.00	LS	\$2,275.00	LS	\$2,000.00
623.2003	Type II-30 Traffic Signal Standard	1	EA	\$10,750.00	\$10,750.00	\$10,750.00	\$10,750.00	\$8,000.00	\$8,000.00
623.2004	Mast Arm Traffic Signal Assembly	2	EA	\$2,400.00	\$4,800.00	\$1,200.00	\$2,400.00	\$1,200.00	\$2,400.00
623.2005	Cantilever Traffic Signal Assembly	1	EA	\$2,235.00	\$2,235.00	\$2,235.00	\$2,235.00	\$1,200.00	\$1,200.00
623.2006	EVP Detector, Mast Arm Mount	1	EA	\$1,275.00	\$1,275.00	\$1,275.00	\$1,275.00	\$1,000.00	\$1,000.00
623.2007	Type "C" Traffic Signal Pullbox	1	EA	\$1,260.00	\$1,260.00	\$1,260.00	\$1,260.00	\$1,600.00	\$1,600.00
623.2008	Penetrate Existing Traffic Signal Pullbox	8	EA	\$400.00	\$3,200.00	\$50.00	\$400.00	\$100.00	\$800.00
623.2009	Traffic Signal Underground Ductline, 4-Way, 2 Inch PVC Schedule 80 Concrete Encased	100 lin ft	LS	LS	\$12,600.00	LS	\$12,600.00	LS	\$20,000.00
623.2010	Traffic Signal Underground Ductline, 1-Way, 2 Inch PVC Schedule 80 Concrete Encased	20 lin ft	LS	LS	\$950.00	LS	\$950.00	LS	\$2,000.00
623.2011	Traffic Signal Cable, 26C#14	230 lin ft	LS	LS	\$3,150.00	LS	\$3,150.00	LS	\$1,000.00
623.2012	Traffic Signal Cable, 2C#14	1,150 lin ft	LS	LS	\$1,900.00	LS	\$1,900.00	LS	\$1,500.00
623.3000	Approach-Only Microwave Detector	4	EA	\$6,000.00	\$24,000.00	\$1,500.00	\$6,000.00	\$600.00	\$2,400.00
623.7052	Loop Detector Sensing Unit (6 Ft. x 6 Ft.) Two Loops	7	EA	\$14,350.00	\$100,450.00	\$2,050.00	\$14,350.00	\$1,400.00	\$9,800.00
623.7053	Loop Detector Sensing Unit (6 Ft. x 6 Ft.) Three Loops	1	EA	\$2,020.00	\$2,020.00	\$2,020.00	\$2,020.00	\$2,000.00	\$2,000.00
623.7054	Loop Detector Sensing Unit (6 Ft. x 6 Ft.) Four Loops	8	EA	\$20,800.00	\$166,400.00	\$2,600.00	\$20,800.00	\$2,600.00	\$20,800.00
1	I	1	I					Ī	

Sheet No. 4 of 9 Sheets

	IABULATION OF BID	<u> </u>							
	Interstate Route H-2 Rehabilitation Waipio Interchange & Mililani Interchange On/Off Ramps, Ka Uka Blvd. & Meheula Prkwy Overpasses & Kipapa Stre	eam Bridge							
PROJECT N	IO.: IM-H2-1(33) Net Length of Project: 4.12 Miles							07475	· OF HANA/AH
DATE ADVI	ISLAND: Oahu DISTRICT: Ewa  DATE ADVERTISED: Internet Posting - April 26, 2007  BIDS OPENED: June 7, 2007  COMPLETION TIME: One Hundred Eighty (180) Working Days		** NOTE: Quantities shown in this column are for in- house use		KIEWIT PACIFIC CO.		N DREDGING CTION CO., INC.	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
COMPLETION	ON TIME: One Hundred Eighty (180) Working Days	only.							
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
623.7056	Loop Detector Sensing Unit (6 Ft. x 6 Ft.) Six Loops	5	EA	\$16,500.00	\$82,500.00	\$3,300.00	\$16,500.00	\$3,800.00	\$19,000.00
629.1011	Double 4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	962 lin ft	LS	LS	\$2,460.00	LS	\$2,460.00	LS	\$3,848.00
629.1012	Double 4-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	1,360 lin ft	LS	LS	\$3,350.00	LS	\$3,350.00	LS	\$5,440.00
629.1013	4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	3,042 lin ft	LS	LS	\$4,200.00	LS	\$4,160.00	LS	\$6,084.00
629.1014	4-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	39,136 lin ft	LS	LS	\$64,650.00	LS	\$67,645.00	LS	\$78,272.00
629.1015	4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	871 lin ft	LS	LS	\$2,600.00	LS	\$2,575.00	LS	\$3,484.00
629.1016	8-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	6,326 lin ft	LS	LS	\$10,525.00	LS	\$10,525.00	LS	\$25,304.00
629.1018	8-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	5,960 lin ft	LS	LS	\$22,260.00	LS	\$22,255.00	LS	\$23,840.00
629.1019	8-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	140 lin ft	LS	LS	\$8,850.00	LS	\$8,850.00	LS	\$1,120.00
629.1020	12-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	100 lin ft	LS	LS	\$2,380.00	LS	\$2,380.00	LS	\$500.00
629.1021	12-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	2,442 lin ft	LS	LS	\$7,180.00	LS	\$7,175.00	LS	\$19,536.00
629.1022	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	417 lin ft	LS	LS	\$2,380.00	LS	\$3,015.00	LS	\$5,004.00

Sheet No. 5 of 9 Sheets

	TABULATION OF BID	<del>-</del>							
	Interstate Route H-2 Rehabilitation Waipio Interchange & Mililani Interchange On/Off Ramps, Ka Uka Blvd. & Meheula Prkwy Overpasses & Kipapa Strea	am Bridge							
PROJECT N	O.: IM-H2-1(33) Net Length of Project: 4.12 Miles							OT 4 T	
ISLAND: Oa	SLAND: Oahu DISTRICT: Ewa		X.	KIEWIT	PACIFIC CO.		N DREDGING CTION CO., INC.	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
DATE ADVERTISED: Internet Posting - April 26, 2007  BIDS OPENED: June 7, 2007		shown in this column						HIGHW	AYS DIVISION
		are for in- house use							
COMPLETIO	ON TIME: One Hundred Eighty (180) Working Days	only.							
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.1030	Crosswalk Marking (Tape, Type III or Thermoplastic Extrusion)	14 lanes	LS	LS	\$6,260.00	LS	\$6,260.00	LS	\$5,600.00
629.1040	Pavement Arrows (Tape, Type III or Thermoplastic Extrusion)	93 each	LS	LS	\$22,000.00	LS	\$22,000.00	LS	\$27,900.00
629.1050	Pavement Word (Tape, Type III or Thermoplastic Extrusion)	22 each	LS	LS	\$14,800.00	LS	\$14,810.00	LS	\$6,600.00
629.1060	Pavement Symbol (Shark's Teeth Marking) (Tape, Type III or Thermoplastic Extrusion)	5 each	LS	LS	\$708.00	LS	\$710.00	LS	\$1,500.00
629.2010	Type "A" Pavement Markers	2,138 each	LS	LS	\$18,040.00	LS	\$18,040.00	LS	\$17,104.00
629.2020	Type "C" Pavement Markers	1,933 each	LS	LS	\$15,850.00	LS	\$15,850.00	LS	\$19,330.00
629.2030	Type "D" Pavement Markers	53 each	LS	LS	\$5,800.00	LS	\$5,790.00	LS	\$530.00
629.2070	Type "H" Pavement Markers	434 each	LS	LS	\$3,060.00	LS	\$3,060.00	LS	\$4,340.00
629.2080	Type "J" Pavement Markers	14 each	LS	LS	\$140.00	LS	\$140.00	LS	\$112.00
630.0100	New Destination Signs (Ground Mounted) without Post	420 sq ft	LS -	LS	\$51,390.00	LS	\$40,960.00	LS	\$50,400.00
630.0150	New Destination Signs (Ground Mounted) with Post	90 sq ft	LS	LS	\$44,000.00	LS	\$17,600.00	LS	\$16,800.00
630.0200	Replacement of Existing Route Marker Signs with New Route Marker Signs	225 sq ft	LS	LS	\$3,300.00	LS	\$8,400.00	LS	\$9,000.00
630.0250	Type B Route Marker Assembly	2 each	LS	LS	\$9,750.00	LS	\$2,900.00	LS	\$3,000.00
631.5000	Regulatory Sign (10 Square Feet or Less)	44 each	LS	LS	\$11,025.00	LS	\$14,700.00	LS	\$17,600.00

Sheet No. 6 of 9 Sheets

PROJECT: Interstate Route H-2 Rehabilitation Waipio Interchange & Mililani Interchange On/Off Ramps, Ka Uka Blvd. & Meheula Prkwy Overpasses & Kipapa Stream Bridge  PROJECT NO.: IM-H2-1(33) Net Length of Project: 4.12 Miles  ISLAND: Oahu DISTRICT: Ewa ** NOTE: Quantities DATE ADVERTISED: Internet Posting - April 26, 2007  BIDS OPENED: June 7, 2007  COMPLETION TIME: One Hundred Eighty (180) Working Days  Only				KIEWIT	PACIFIC CO.		AN DREDGING CTION CO., INC.	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
631.5001	Warning Sign (10 Square Feet or Less)	24 each	LS	LS	\$4,000.00	LS	\$440.00	LS	\$9,600.00
631.5100	Regulatory Sign (10 Square Feet or Less) with Post	11 each	LS	LS	\$3,825.00	LS	\$3,420.00	LS	\$5,500.00
631.5101	Warning Sign (10 Square Feet or Less) with Post	1 each	LS	LS	\$850.00	LS	\$1,140.00	LS	\$500.00
631.5200	Regulatory Sign (Greater than 10 Square Feet)	12 each	LS	LS	\$4,800.00	LS	\$14,700.00	LS	\$6,000.00
631.5201	Warning Sign (Greater than 10 Square Feet)	9 each	LS	LS	\$7,200.00	LS	\$440.00	LS	\$4,500.00
631.5300	Regulatory Sign (Greater than 10 Square Feet) with Post	1 each	LS	ĹS	\$3,750.00	LS	\$3,420.00	LS	\$600.00
631.5301	Warning Sign (Greater than 10 Square Feet) with Post	3 each	LS	LS	\$4,050.00	LS	\$1,140.00	LS	\$1,800.00
632.4000	Reflector Marker (RM-2) with flexible delineater post	8 each	LS	LS	\$1,625.00	LS	\$2,160.00	LS	\$640.00
632.4100	Reflector Marker (RM-3)	25 each	LS	LS	\$1,200.00	ĿS	\$675.00	LS	\$1,000.00
632.4200	Reflector Marker (RM-5) mounted on existing guardrail	30 each	LS	LS	\$9,625.00	LS	\$3,750.00	LS	\$900.00
632.4300	Type II Object Marker	6 each	LS	LS	\$600.00	LS	\$150.00	LS	\$180.00
632.7500	Milepost Marker without Post	2 each	LS	LS	\$500.00	LS	\$100.00	LS	\$300.00
638.1000	Repair Existing Concrete Gutter	LS	LS	LS	\$15,200.00	LS	\$9,000.00	LS	\$12,000.00
638.3000	Curb and Gutter, Type 2DG	13 lin ft	LS	LS	\$8,000.00	LS	\$800.00	LS	\$780.00
638.3100	Type 61614 Gutter, Type 2	500 lin ft	LS	LS	\$32,000.00	LS	\$18,000.00	LS	\$24,000.00
639.1000	Curb, Type 6	190 lin ft	LS	LS	\$7,000.00	LS	\$6,600.00	LS	\$5,700.00
641.0100	Hydro-Mulch Seeding	96,400 sq ft	LS	LS	\$10,000.00	LS	\$57,000.00	LS	\$96,400.00

Sheet No. 7 of 9 Sheets

	Interstate Route H-2 Rehabilitation Waipio Interchange & Mililani Interchange On/Off Ramps, Ka Uka Blvd. & Meheula Prkwy Overpasses & Kipapa Strea	am Bridge								
PROJECT N	NO.: IM-H2-1(33) Net Length of Project: 4.12 Miles							STATE OF HAWAII		
ISLAND: O	ISLAND: Oahu DISTRICT: Ewa			KIEWIT	PACIFIC CO.		AN DREDGING	DEPAI	RTMENT OF	
DATE ADVERTISED: Internet Posting - April 26, 2007		Quantities shown in				CONSTRUCTION CO., INC.		TRANSPORTATION HIGHWAYS DIVISION		
BIDS OPENED: June 7, 2007		this column are for in- house use								
COMPLETI	COMPLETION TIME: One Hundred Eighty (180) Working Days									
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$52,500.00	LS	\$52,500.00	FA	\$52,500.00	
644.0100	Repair of Existing Sprinkler System	FA	FA	FA	\$30,000.00	LS	\$30,000.00	FA	\$30,000.00	
645.1000	Traffic Control	LS	LS	LS	\$810,000.00	LS	\$1,299,870.00	LS	\$500,000.00	
645.2000	Additional Police Officers, Additional Traffic Control Devices and Advertisement	FA	FA	FA	\$100,000.00	LS	\$100,000.00	FA	\$100,000.00	
648.0100	Field-Posted Drawings	LS	LS	LS	\$5,000.00	LS	\$10,000.00	LS	\$8,000.00	
650.0100	Curb Ramps, Type A	2 each	LS	LS	\$14,000.00	LS	\$15,000.00	LS	\$11,650.00	
650.0300	Curb Ramps, Type C	2 each	LS	LS	\$16,500.00	LS	\$25,000.00	LS	\$10,000.00	
694.1000	Contractor-Furnished Portable Concrete Barrier	85	EA	\$2,000.00	\$170,000.00	\$5,000.00	\$425,000.00	\$3,000.00	\$255,000.00	
694.1010	Inertial Barrier Module, (200 Lbs)	2	EA	\$400.00	\$800.00	\$550.00	\$1,100.00	\$700.00	\$1,400.00	
694.1020	Inertial Barrier Module, (400 Lbs)	1	EA	\$400.00	\$400.00	\$575.00	\$575.00	\$800.00	\$800.00	
694.1030	Inertial Barrier Module, (700 Lbs)	4	EA	\$400.00	\$1,600.00	\$600.00	\$2,400.00	\$900.00	\$3,600.00	
694.1040	Inertial Barrier Module, (1,400 Lbs)	11	EA	\$400.00	\$4,400.00	\$675.00	\$7,425.00	\$1,100.00	\$12,100.00	
694.1050	Inertial Barrier Module, (2,100 Lbs)	4	EA	\$400.00	\$1,600.00	\$700.00	\$2,800.00	\$1,300.00	\$5,200.00	
699.1000	Mobilization (Not to exceed 10% of the sum of all items excluding the bid price of this item and force account items)	LS	LS	LS	\$1,400,000.00	LS	\$1,400,000.00	LS	\$700,000.00	

PROJECT: Interstate Route H-2 Rehabilitation Waipio Interchange & Mililani Interchange On/Off Ramps Ka Uka Blvd. & Meheula Prkwy Overpasses & Kipapa St PROJECT NO.: IM-H2-1(33) Net Length of Project: 4.12 Miles ISLAND: Oahu DISTRICT: Ewa DATE ADVERTISED: Internet Posting - April 26, 2007 BIDS OPENED: June 7, 2007 COMPLETION TIME: One Hundred Eighty (180) Working Days	ream Bridge		KIEWIT	PACIFIC CO.		N DREDGING CTION CO., INC.	DEPAR TRANSI	OF HAWAII RTMENT OF PORTATION LYS DIVISION
ITEM NO. ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
A. Sum of All Items				\$16,172,170.00		\$16,830,000.00		\$11,270,008.00
B. Either Furnish Foreign Steel Not to Exceed Minima Furnish Foreign Steel in Excess of Minimal Amount		\$0.00		\$0.00		\$0.00		
C. Amount for Comparison of Bids (A+B)			,	\$16,172,170.00		\$16,830,000.00		\$11,270,008.00

I certify that this is a true and correct tabulation of bids for this project.

Christine Yamasaki, Project Manager

*Ce* 24 67 Date